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N1929 said; - T9ORT RUIRWD VDM RNIMINTA AN N1929
It was certainly obvious that 8n>s9IXT»2 an 701X eats 72170

OVERVIEW

2"2" concludes his 1" saying that 7n?°O8n 7nX*2w 7 then certainly 71903
n2°oRn. It is evident that 2"2°7 maintains that 7n2°O8» 7nNX°2 is a forgone
conclusion; all we have to derive is that 7n%°O8» 7900. However if X2 is
merely 7w PO17°X then why is 2"2°7 more certain by 7X°22 than by 703 that
she is 72170 N9, It would therefore seem that (at least) 2"2°7 maintains that
Y PRIV AR, However °"'217 rejected this proof by saying the 1"'p is from
1917 "y AR"2. Therefore we do not know what 7X°2 alone accomplishes. X127
1s offering an additional refutation to the proof that 7wy PRI AX°2. Our
mMoon discusses what X127 is adding to the refutation of >"'217
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The explanation of this X3 is that X139 comes to substantiate that

indeed we can maintain that 7I8°2 creates only 1°®YR (and not x121) -
— 199 RPOUNT NN NIY INMI 190 RUIWOT XON NIY INND NINNPTN

And that which you asked why is it that by this case of X2 he was
certain that she is 721702 n?>X, why is different from this case of “v17p
no> where he is uncertain that she eats 7170 and requires a 1"7 to prove it?!

The explanation is that -
—* qUaa 192 NNY33 P2 NYINT KVIYS *NNPNINTA

According to 770 law it is obvious that an 701X eats 7290 whether she

became nwmpn through 18%3, or whether she became nwpn with no> -
— %1391 712N NVDINY 7Y NHYT XM

" The term 2170 indicates that 19910 is negating a more simple interpretation; in this case it may be *"w».
According to s""w1 explanation, X127 is merely offering another refutation that we cannot prove from the
1"p that AwWw PRIV X1 It seems that N1dON is taking this a step further, that X1°27 maintains that we can
interpret the 1" of 2"2" in such a manner that it indicates 77w 7°017°R 7X°2 (and not merely that there is no
proof from his 1"p, whether w1y 77017°R 7%°2). See following ¥ 7"7 MvOIN. Other opine that Moo is
rejecting the n"177 " in the following n1vOIN. See also X"w77n on that NvOIN.

? Others amend this to X121.

? Others amend this to X0 X7,

* This was Xv°wo to all; including 32 32 72 137 (and 2"2™), because once she is NWTPA she is considered 1P
1902.

> The husband may find a 191°0 and declare his Pw17°p as a Myv rpn and it will turn out that a 777 ate 17N,
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And that which 2"2 72 13m sent to 2"2°7, that was to prohibit an °"V) 7017X

7o) from eating 71170 on account of a J31297% 7777 -
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And it was concerning this J2397% 7°7 that 2"2°7 formulated the Y"'{ that an

7017R (even with 702) can eat 777N -
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For if she is an 7822 701X it was certain to 2"2°7 (and 2"2 1a17°) that she

eats 17190 even 112977 for there is no concern of 9979, The reason there is

no concern of 1197°0 is -
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because (allegorically) a person does not drink from a cup unless he

checks it our previously. This established the basis of the 1" that 782 is 721702 72708
even 1327177 -
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And from the Y'? he wanted to prove that by ne> there is also no
concern for 17972°0 as the X923 explains.

SUMMARY

According to X1°27 the 1"'p is that if 7n%°o8» 7X°2 even 7132777 (for we are not
151’07 W) then certainly nn?°O8n 7902 (that we are not 119%°0% WWIn, as we
are not W by a nndw). This proves that 7w 7°017°K X2,

THINKING IT OVER
How can a1"p decide whether we should be 1917°0% wwin or not?!’

® When we interpret the 1"p this way that 1192°0% 11w n X, this indicates that 7w 017K 783, for once
there is 1"X1°1 there is no more issue of 1191n°0. There can be no 1970 wWwn by a AXw1, for once the 77N
declares that the wife of a 7772 eats 72170 the 2°n51 cannot make a decree to prevent her. [In addition if 7X°2
Ty PR, then how can there be a 1"'p; we can say X7 JOX 17 (see previous 7 7"7 nv0IN) that she is
7M7N2 n2oW only after X1, This proves that 2"2°7 (and 222 7371°) maintain that 7wy PR X°2.]

TA 1190 is a bodily defect (that may give cause that the ‘buyer’ or w7pn have claims of a nvw ripn).

® This is a euphemism that he checked and either found no 2 or he agrees to marry her with these .
? See 1"nx (on the Xm3) footnote # 93.
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